IWHBIT P RFERERFEEEERERTERER
[(EEHRERNBTZTMDMER]

R RN A N E E LT A CF) g =
R R 10 8.0 6.8
R PR, L LA (10) 8.0 6.8
%%ﬁﬁﬁ%&@?% 20 16. 2 14.2
HAEEE, R, YRR (5) 4.0 3.6
fE 7 BRAKHI %%ﬁﬁﬁ (5) 4 3.4
PEEB ORFE, EBRRE (5) 8 3.4
POBEHE ., WHEGHHE (5) 4.0 3.8
=D TR 30 24. 4 22.4
F—EANE, JEEHiLAT U b (10) 8.2 7.4
EHEH - EERH (10) 8.4 7.8
A= a— k& (10) 7.8 7.2
Bl 10 8.0 7.6
B SR S 70 56.6 51.0
(ff+&EF M D FER ]
i A A 7)) IniG=
s R GRIKHIBREERE 1, 882, 000F) 30 23.8 30.0
X ARG = (FRE SR HARHI TR ERL / G m iR 22 SR AR TR &k
(¥ & MmEER]
i A A ) G =
MG R A (= AffA A+ A ) 100 80. 4 81.0
BTG F O




